N HYbl [OPAXD

apuyupmMenmK namsbip
bunresniomoce.




Kabamnay :

1) AHnammaHbIH Md2bHace bapMbi:

V20 V=7 §E3)' 9
2) Ucbamnapea : .
: V125 =5, wenku 53 —125
3/0=0 ,4enku ()® =
§/1 #—1 ,4eHku (-1)" =1




"
Kabamnay:

Hacbiwmebipbiebi3:

1. 8,24 < 9,14 2. (_2,5)5 < 43

3.(037)<(-27) 4357




S
y = x 4 gpyHKUUsICEHEH
2paguabl HOKmMa awa y3ambi?

A(-1;, 1) 4

B(1,-1) X
C(7:-2401) X




ApupMemudyeckuu KOPEeHb
n-ou cmerneHu.

Uconnoaces:

N HYbI 03pPoa)Kace a 2a muz2e3 muckKape
6yrimazaH a caH muckape byrimazaH a
CaHbIHHaH N HYbI 03P3XKd apugmMemuK

mambIp oun amarnia.

J_— vE;j 2 074814

J—32 =

- Z

--3,9




Tueze3nnoMdHe yuuieaes:

1) | x,=-2; x,=2 4) x=10
2) | mambIpbl FOK. 1
5) X =-4
3)| x,=-1/2; x,=1/2 o
6) x,=-1; x, = 1;x3=-3;x4=3.
7) x,=9; x,=1
8) x,=-1;, x,=2
9) x1—= 16, x, = 25.




me, NOYBME:. 173




" JEEE
Mecmoakbiunb 3Wl.
1 eapuaHm 2 eapuaHm

Ne 1. mMmoeebHace byrnieaH aHnammarsnapHbl KYYHper
SA3bI2bI3:

8. V.81 &/—1: 5071, | ¥/27; 4/-2; W-1103; %0.

No 2. Uconnoees:

—23/32; —54/16; Y-1. |[-4481; —33/-64; ¥-32.

Neo 3. TueesnromMoHe yuweaes:

1125+x3:O 811—x4:0
— xt-2=0 —x +16=0
32 ' 416=0 2 ¥48=0




